S2{AEE MetroCluster 1A Q2 MBtL|C}
ONTAP MetroCluster

NetApp
June 21, 2024

This PDF was generated from https://docs.netapp.com/ko-kr/ontap-
metrocluster/upgrade/task_configure_intercluster_lifs_to_use_dedicated_intercluster_ports.html on June
21, 2024. Always check docs.netapp.com for the latest.



=0

Z2{AE E MetroCluster +AH O 2 LTt
QIE{Z2BAE LIFE AEL|Ct
FE ofI2|A0|EE O] ELICE
MetroCluster 714 7134
ZH .ol O|2{2E C|o|Ef 0 22| AH[0|E MM
AME DL|E{2S 9/t FC-to-SAS E2|X| 714
MetroCluster T+40{A HIEIH|O|H S8 0|
MetroCluster 714 QI

00 = -

12
14
17



EEENE S

CIE{ 22| AH LIFE T+ E&LICH

A8 LEO| thst QlE{ 22

—

H
8 mEOf of
Ezjaiof] A8 £ 2

THA|
1. 22{AEQ ZE L}

HE®3 ZE &

A EE

CI2 Ofl= cluster019 HEYA

cluster01:

(Mbps)

Node Port

cluster01-01
ela
eOb
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e0d
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e0f
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:> network port show

Cluster
Cluster
Default
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Default
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Speed
MTU Admin/Oper
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cluster0l::> network interface show -fields home-port,curr-port

vserver 1if home-port curr-port
Cluster cluster01-01 clusl ela ela
Cluster cluster01-01 clus2 eOb eOb
Cluster cluster01-02 clusl ela ela
Cluster cluster01-02 clus2 eOb eOb
cluster(O1l

cluster mgmt elc elc
cluster(O1l

cluster01-01 mgmtl elc elc
cluster0O1l

cluster01-02 mgmtl elc elc

3. F8 LEO| thet HYLH IES ML

'network interface failover-groups create-vserver_system SVM_-failover-group_failover_group_-
targets_physical_or_logical_ports_'

CtS W0 = A|AE SVM "cluster01"2| HY 2H T& "intercluster01"0| ZE "e0e" & "e0f'E Z&BfLCE.
cluster(0l::> network interface failover-groups create -vserver cluster(Ol
-failover-group
intercluster0l -targets
cluster01-01:e0e,cluster01-01:e0f,cluster01-02:e0e,cluster01-02:e0f
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cluster0l::> network interface failover-groups
Failover
Vserver Group Targets

show

Cluster
Cluster
cluster01-01:e0a, cluster01-01:e0b,
cluster01-02:e0a, cluster01-02:e0b
cluster0O1l
Default
cluster01-01:e0c, cluster01-01:e0d,
cluster01-02:e0c, cluster01-02:e0d,
cluster01-01:e0e, cluster01-01:e0f
cluster01-02:e0e, cluster01-02:e0f
intercluster01

cluster01-01:
cluster01-02:

ele, cluster01-01:e0f
ele, cluster01-02:e0f

. A|AE SVMO| Chet QIE{ S AE LIFE 4t O3 0|2 HY 2 I 0] gLt

ONTAP HEIL|Ct Y

9.6 O| At 'network interface create-vserver system_SVM-Iif LIF_name-service-policy
default-21E{ 22| AE{-home-node node -home-port port port-address port_ip-
netmask mask-failover-group failover_group'

9.5 0|3} 'network interface create-vserver system_SVM-lif LIF_name-role-home-node-
home-port port port-address port_ip-netmask netmask-failover-group
failover_group'

HH| B FE2 man H|O|X|E FZSHIAL.
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cluster0l::> network interface create -vserver cluster0l -1if
cluster0l icl0l -service-

policy default-intercluster -home-node cluster01-01 -home-port eOe
—address 192.168.1.201

-netmask 255.255.255.0 -failover—-group intercluster0l

cluster0l::> network interface create -vserver cluster(0l -1if
cluster0l icl02 -service-

policy default-intercluster -home-node cluster01-02 -home-port ele
-—address 192.168.1.202

-netmask 255.255.255.0 -failover-group intercluster0l

- AES2{AH LIF7} HYE A=K 2elefL|ct.

=

* ONTAP 9.6 O[&k: *

HIER 3 QE{H|0]A show-service-policy default-2/E{ 22{AE]

* ONTAP 9.5 5! O|™ Q| HL: *

HIE 3 QAE{HO0|A show-role RIE{ZE2{ AE{(network interface show-role QIE{Z2{AH)
MA| HHE A 22 man H|O|X|E HESHYA2.

cluster0l::> network interface show -service-policy default-intercluster

Logical Status Network Current
Current Is
Vserver Interface Admin/Oper Address/Mask Node Port
Home
cluster0O1
cluster0l iclO1
up/up 192.168.1.201/24 cluster01-01 e0Qe
true
cluster0l icl02
up/up 192.168.1.202/24 cluster01-02 eOf
true

- AE{SE{AH LIF7} 35 &| =X 2elgt|c),
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* ONTAP 9.6 O] Ak: *

HIEI3 QIE{H|O0| A show-service-policy default-21E{ 22| AE{-failoverS ME4BIL|C}
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HE? 3 2AE M 0| A show-role IE{Z2{ AE-failoverE XA
A HH 222 man H|0|X|E HXSIMAIL.
CtE oflofl M= SVM "eOe" EEO]| CHE QIE{ZE2{AE LIF "cluster01_icl01" X "cluster01_icl02"7} "e0f" ZEZ

HYLHECH= AE 20 SLIC.

cluster0l::> network interface show -service-policy default-intercluster

—failover

Logical Home Failover Failover
Vserver Interface Node:Port Policy Group
cluster0l

cluster0l icl0l cluster01-01:e0e local-only
intercluster01l

Failover Targets: cluster01-01:e0e,
cluster01-01:e0f
cluster0l icl02 cluster01-02:e0e local-only
intercluster01
Failover Targets: cluster01-02:e0e,
cluster01-02:e0f
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cluster0l::> network port show

Speed
(Mbps)
Node Port IPspace Broadcast Domain Link MTU Admin/Oper
cluster01-01
ela Cluster Cluster up 1500 auto/1000
e0b Cluster Cluster up 1500 auto/1000
elc Default Default up 1500 auto/1000
e0d Default Default up 1500 auto/1000
cluster01-02
ela Cluster Cluster up 1500 auto/1000
e0b Cluster Cluster up 1500 auto/1000
elc Default Default up 1500 auto/1000
e0d Default Default up 1500 auto/1000

2. N\|AHI SVMO| CHeE QIE{SE{AE] LIF MA:

* ONTAP 9.6 O At *

'network interface create-vserver_system_SVM_-lif LIF_name_-service-policy default-2/E{22{AE{-home
-node_node_-home-port_port_-address_port_ip_-netmask _mask '

*ONTAP 9.5 5! O|™ HHEQ| HL: *

'network interface create-vserver_system_SVM_-lif LIF_name_-role I2/E{22{AE{-home-node_node_
-home-port_port_-address_port_ip_-netmask_mask '

HH BE =2 man HO|X|E FZSHIAIL.

CtE oo = QIE{E2{AE LIF 'cluster01_icl01’2t 'cluster01_icl02'S MM etL|Ct.

cluster(0l::> network interface create -vserver cluster01l -1if
cluster0l icl0l -service-

policy default-intercluster -home-node cluster(01-01 -home-port eOc
—address 192.168.1.201

-netmask 255.255.255.0

cluster0l::> network interface create -vserver cluster0l -1if
cluster0l icl02 -service-

policy default-intercluster -home-node cluster01-02 -home-port eOc
-—address 192.168.1.202

-netmask 255.255.255.0



3. QIE{2HAE] LIFJL M E[A=X] gelgtL|ct.

* ONTAP 9.6 O At *

HIERI3 QIE{H|0| A show-service-policy default-21E{ 22{AH

*ONTAP 9.5 5! O|™ HHEQ| HL: *

HE R 3 21E{H|0|A show-role QIE{22{ AE{(network interface show-role QIE{22{AE)

cluster(0l::> network interface show -service-policy default-intercluster

Logical Status Network Current
Current Is
Vserver Interface Admin/Oper Address/Mask Node Port
Home
cluster(O1l
cluster0l icl0l1
up/up 192.168.1.201/24 cluster01-01 eOc
true
cluster0l icl02
up/up 192.168.1.202/24 cluster01-02 eOc
true

4. QIE|ZB|AE| LIF7} S2E|=X| StolgtLict,

* ONTAP 9.6 O At *

'network interface show — service-policy default-Q!E{22{AE{-failover'

* ONTAP 9.5 5! O|™ HF Q| HL: *

HE? 3 2EH 0| A show-role IE{22{ AE -failoverE XA
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cluster0l::> network interface show -service-policy default-intercluster

—failover

Logical Home Failover Failover
Vserver Interface Node:Port Policy Group
clusterO1

cluster0l icl0l cluster01-01:e0c local-only
192.168.1.201/24
Failover Targets: cluster01-01:e0c,
cluster01-01:e0d
cluster0l icl02 cluster01-02:e0c local-only
192.168.1.201/24
Failover Targets: cluster01-02:e0c,
cluster01-02:e0d
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storage aggregate modify —-aggregate aggr name -raidtype raid4
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1. R2E 0f22|H0|E D|2A:

'Storage aggregate mirror_aggr_name__

CHS HAL2 controller a_12| £E Oj12|A|0|EE O|z{2StL|Ct.
controller A 1::> storage aggregate mirror aggr(O controller A 1
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MetroCluster 7+ 7144

MetroCluster T+40i| =715t = E0|X H|O|E E=E A[&5I2{H "MetroCluster configure
-refresh true" BES AAlsHOF gL Ct,

Of ZfHofl 3
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b. A L= & SILI0| A MetroCluster A2 MZ DEIL|CH + "MetroCluster configure - refresh true”

LIS o= & DR & 250 MZ 1%l MetroCluster 42 20 FLIC}

controller A 2::*> metrocluster configure -refresh true

[Job 726] Job succeeded: Configure is successful.

controller A 4::*> metrocluster configure -refresh true

[Job 740] Job succeeded: Configure is successful.
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2. AO|E AQ| HEQ|Z! AENZ EtolsHL| L}

HEQA ZE &

CHS 0= 4= MetroCluster 42| HEY 3 ZE A2 H| SLICH



cluster A::> network port show
Speed (Mbps)
Node Port IPspace Broadcast Domain Link MTU Admin/Oper

controller A 1

ela Cluster Cluster up 9000 auto/1000
e0lb Cluster Cluster up 9000 auto/1000
elc Default Default up 1500 auto/1000
eld Default Default up 1500 auto/1000
ele Default Default up 1500 auto/1000
e0f Default Default up 1500 auto/1000
elg Default Default up 1500 auto/1000
controller A 2
ela Cluster Cluster up 9000 auto/1000
eOb Cluster Cluster up 9000 auto/1000
elc Default Default up 1500 auto/1000
e0d Default Default up 1500 auto/1000
ele Default Default up 1500 auto/1000
e0f Default Default up 1500 auto/1000
elg Default Default up 1500 auto/1000

14 entries were displayed.

3. MetroCluster 49| & AIO|EOf|A MetroCluster 42 2HQIgtL|C}.

a. AO[E AOIM 8= =helgtL|C.
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MetroCluster &

cluster A::> metrocluster show

Configuration: IP fabric

Cluster Entry Name State
Local: cluster A Configuration state configured
Mode normal
Remote: cluster B Configuration state configured
Mode normal

a. AIO|E B:+'MetroCluster show'2| A& golgtL|rt
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cluster B::> metrocluster show

Configuration: IP fabric

Cluster Entry Name State

Local: cluster B Configuration state configured
Mode normal

Remote: cluster A Configuration state configured
Mode normal
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cluster A::> storage aggregate create aggrl node A 1 -diskcount 10 -node

node A 1 -mirror true

[Job 15] Job is queued: Create aggrl node A 1.
[Job 15] The job is starting.

[Job 15] Job succeeded: DONE

3. A Oi22[A|O|E2| RAID 18 ¥ E2I0|EE ehelgfLct.

=

'Storage aggregate show-status-aggregate_aggregate-name '

AMEf 2L|IEZE 2|3t FC-to-SAS H2|X| A
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HEll ZLIEHZ S 2ol FC-SAS E2|X|E -dot= YH| Choll ZOtEHA|L.
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ONTAP 9 855} AE2Ix] H2/x| BHO| AL HEIXI2 HHISLICE TS EPAOIAE ‘Storage

(D bridge' BEHE HO0{FX|Tt, ONTAP 9.8 0|4 % Ml Zol AL0|= 'system bridge' HHOHE
I-.Q.ol- I-

A
1. ONTAP 2 A ZETE|N MEf ZLIEZ0 E2|X|E FItetL|Ct.
a. AFg S¢2l ONTAP HZFOf| CHet BHS AHE5t0] E2|X|S F=ItfL(tt.

ONTAP HHEIL|C} By

9.5 0| At AE2[X| H2|X| 7t F4 0.0.0.0 - CHLY 22
O|§_E2[X|-0|&_

9.4 0|3} 'Storage bridge add-address_bridge-ip-address_-
name_bridge-name '

b. HE|X|7} FIIE|ACH SHIZH L EEIRA=X] 2lgL|ct.
'AERX| HE[X] &
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r\l

A 20| 2= H|O|E{7 HHEE| = O] 158 AT ZE 4 Q&SL|CH ONTAP ME EL|E = "AE" E9|
r‘E’_l'OII'_ WWN(Worldwide Name)2t 22 7|Ef §E7f HAE = 22 E2[X|of 2Estn ZLIHAE
L|Ct.

1> 29 i
J|0I-

o>

CtE Ol= FC-to-SAS E2|X[7t 7 &l BRE EHFLICL

controller A 1::> storage bridge show

Bridge Symbolic Name Is Monitored Monitor Status Vendor
Model Bridge WWN

ATTO 10.10.20.10 atto0l true ok Atto
FibreBridge 7500N 20000010867038c0

ATTO 10.10.20.11 atto02 true ok Atto
FibreBridge 7500N 20000010867033c0

ATTO 10.10.20.12 atto03 true ok Atto
FibreBridge 7500N 20000010867030c0

ATTO 10.10.20.13 atto04 true ok Atto
FibreBridge 7500N 2000001086703b80

4 entries were displayed

controller A 1::>
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Cluster A::*> volume show MDV_CRS*
Vserver Volume Aggregate State Type
Available Used%

Cluster A
MDV_CRS 14c00d4ac9f311e7922800a0984395f1 A
Node A 1 aggrl

online RW
9.50GB 5%
Cluster A
MDV CRS 14c00d4ac9f311e7922800a0984395f1 B
Node A 2 aggrl
online RW
9.50GB 5%
Cluster A
MDV_CRS 15035e66c9£311e7902700a098439625 A
Node B 1 aggrl
= RW
Cluster A

MDV_CRS 15035e66c9f311e7902700a098439625 B
Node B 2 aggrl
- RW

4 entries were displayed.

Cluster A::>

. B{ESH ChAr of 20| E Al

'MetroCluster check config-replication show-aggregate-eligibility

Cte EBES HASIH HEHHO|E 258 =AY £ /= cluster_A2| 0| I2|AHO[EE

£0

Al
Al

1

1
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=

0GB

0GB
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Cluster A::*> metrocluster check config-replication show-aggregate-

eligibility

Aggregate Hosted Config Replication Vols Host Addl Vols Comments

Node A 1 aggr0O - false Root Aggregate

Node A 2 aggrO - false Root Aggregate

Node A 1 aggrl MDV CRS 1bc7134a5ddflle3b63£123478563412 A true -
Node A 2 aggrl MDV _CRS 1bc7134a5ddflle3b63£f123478563412 B true -
Node A 1 aggr2 - true

Node A 2 aggr2 - true

Node A 1 Aggr3 - false Unable to determine available space of aggregate
Node A 1 aggr5 - false Unable to determine mirror configuration
Node A 2 aggr6 - false Mirror configuration does not match requirement
Node B 1 aggr4 - false NonLocal Aggregate

@ O™ OfloflM= Node_A 1 _aggr2 % Node A 2 aggr2E At2E 4 Q&LILCL.
4. 28 0|5 HYS AIEHL|CE

'volume move start-vserver_svm_name_-volume_metadata_volume_name_-destination-
aggregate_destination_name_ *

C}S ®als AslH HIEIE|0|E] 228 "MDV_CRS. 14c00d4acof311e7922800a0984395F 1"0] "El7
LE A1 _aggr1"olAM "®EA =E_A 1_aggr2"Z O|SELILCE.

Cluster A::*> volume move start -vserver svm cluster A -volume
MDV CRS 14c00d4ac9£311e7922800a0984395f1
-destination-aggregate aggr cluster A 02 01

Warning: You are about to modify the system volume

"MDV_CRS 9da04864ca6011e7b82e0050568beSfe A". This may cause
severe

performance or stability problems. Do not proceed unless
directed to

do so by support. Do you want to proceed? {yl|n}: y
[Job 109] Job is queued: Move
"MDV_CRS 9da04864ca6011e7b82e0050568be9fe A" in Vserver
"svm cluster A" to aggregate "aggr cluster A 02 01".
Use the "volume move show -vserver svm cluster A -volume
MDV_CRS 9da04864ca6011e7b82e0050568be9fe A" command to view the status
of this operation.

= -

°. 2F 0|5 ZH<l

0>

FEH = stolshL|Ct,
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'volume move show -volume vol_f&&2 0|&"

6. gr2|xt Hot YR SopZfLCt.

'Set-Privilege admin’&L|Ct

MetroCluster 7+A &0l

= AN
=) MetroCIuster —_rléi = ._%43._* = 2folsf{of BfL|Ct. ot PatEl (A=l E) &
AP K| = Fof| 2HRIsHOF LIt

Of ZfHofl 3

= & OtLt EE= T 22 AHO|A &2 AlZE LHO|| 'MetroCluster check run' @2 & H
HHO| 2= HI0|HE £&SHK| 2 4 U ELICE 0|2 'MetroCluster check show' &
HAE|X| k&Lt

T2 WARRE MY 2 HAME[H ZA| A=E(X| S = AFLICH

cluster A::> metrocluster check run

The operation has been started and is running in the background. Wait
for

it to complete and run "metrocluster check show" to view the results. To
check the status of the running metrocluster check operation, use the
command,

"metrocluster operation history show -job-id 2245"

cluster A::> metrocluster check show

Component Result
nodes ok
lifs ok
config-replication ok
aggregates ok
clusters ok
connections ok
volumes ok

7 entries were displayed.
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18

7t £[29| 'MetroCluster check run' BEHE Sl HCt Mot ZtE Z={tCt
'MetroCluster check aggregate show'

'MetroCluster check cluster show' S MEHEHL|CH

'MetroCluster check config-replication show' S ME{StL|CH

'MetroCluster check lif show'

MetroCluster check node show

>S5
7
u

MetroCluster check show B&E2 %[2 MetroCluster check ru
show B@ES AF25t7| Fo| &4 MetroCluster check run H2
SH{of gfL|Ct.

ME HO{ZFL} MetroCluster check
= HET XM HETH R EE

(Uihs

o

CHS ol Y5344 = MetroCluster 12 £/$ 'MetroCluster check aggregate show' @& &2
HO{FLIC}

cluster A::> metrocluster check aggregate show

Last Checked On: 8/5/2014 00:42:58

Node Aggregate Check
Result
controller A 1 controller A 1 aggr0
mirroring-status
ok
disk-pool-allocation
ok
ownership-state
ok
controller A 1 aggrl
mirroring-status
ok
disk-pool-allocation
ok
ownership-state
ok
controller A 1 aggr2
mirroring-status
ok
disk-pool-allocation
ok
ownership-state
ok



controller A 2 controller A 2 aggr0

mirroring-status

ok
disk-pool-allocation
ok
ownership-state
ok
controller A 2 aggrl
mirroring-status
ok
disk-pool-allocation
ok
ownership-state
ok
controller A 2 aggr2
mirroring-status
ok
disk-pool-allocation
ok
ownership-state
ok

18 entries were displayed.

mm
HI
2

Ct2 oo M= Y53t 4= MetroCluster 28 S 2|8 'MetroCluster check cluster show' @& £
ELICt O]l Zett AR SHHAEII HAE Mat2 plT FH|Jt E[RSS LIEHHLICE

[ — —
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Last Checked On: 9/13/2017 20:47:04

Cluster Check

mccint-fas9000-0102
negotiated-switchover-ready
switchback-ready
job-schedules
licenses
periodic-check-enabled

mccint-fas9000-0304
negotiated-switchover-ready
switchback-ready
job-schedules
licenses
periodic-check-enabled

10 entries were displayed.

Result

not-applicable
not-applicable
ok
ok
ok

not-applicable
not-applicable
ok
ok
ok
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